= % a+b 9 gl bE shue?

1
® 2x+1)x2=ax+b @ —5(—12x—6):ax+b
1 1
® (6x+6)x§=ax+b @(—x—i—?))fﬁsz—l—a

® (4x+1)x2=bx—-a

~&B

Da=4,b=2 > a+b=6
@a=4,b=2 - a+b=26
®a=b=3 - at+b=6

@Da=6,b=-2 - a+b=14
®a=-2,b=8 - a+b=6




2. e F A g2 A2
@O 2(x+1)=2x+2 @ 3(x-4)=3x-12
® 3(x-1) = 3x—3 @)(x+4)x2=x+8

® (3x-6)+3=x-2

@ (x+4)x2=2x+38




3. X9 #Holab,c, YO &olab,c¥d W, (X, Y) R o]Fo|A]=
N5 Fotolel,

Al
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(@, @), (a, b), (a, ¢), (b, a), (b, D), (b, ¢), (¢, a), (¢, b), (¢, ¢)
Z 9 7heltt.




4.

X 2] G0l a,b,c01 T, ¥ ] 7ol be,d 2 W, (X,¥) & o] o] A=
Aol g Fatelet (2, X2l 7 # vl 3)

i

» €)s (b, d), (¢, b), (¢, ¢), (c, d)
ZA|AOF o17] w2l
, b), (c, d)2 7 o]t}
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%ABCAHOVHWWMA%J(&‘?( ,a
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 BHEolA): =y o] Yol g Fotu?
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7. ABHD 909 A A(3.4) 3 9G] distel B A Hw?

@D (3,4) @ (4,3) ® (-3,4)
@ (3,-4) @) (-3.-4)

A7) ot hHA AL x9} yo] B5s}l nE wpHn
(=3,—4) ol T},
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O& T &4 g2 A7

© #HEWH 91o] Ye] HEE (0,0) ]}
@ #H (3,-4)= Al 4AHEHA Qo] Stk

® yZ 919] FL 2T} 0olrk,

@) (2.3)3 (2,-3) 2 yZol thste] o]k,
® A (4,5) oA xZHFE= 40|t

rlo

w5l Helol 94 A y el $37) dhejelt
@ (2.3)7 4 (2-3) y R 55} Wrjoln g xFof
dhato] eHolet.
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x, v Abol o] AAE TR

12 12 1
0 WP S

X X 12
@ y=12x ® y=-12x

~&B

(A) = (A7) x (53) elmz
12=xXy
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10.

257 AT o, Z1AH9] B yem?® = 4= x 7ol Bhel | gt
ol 71| o] o] 27| off, 1] 83 cm? o]t} o] 7]A| 2] Ko
yem? 2} FE x 7| 9F Atol o] A A2

38 76 83
Oy=— @yz; ®y=—
166
@ y=83x (@)y:—




